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FA: 2SHS2ZAG A
A BU=TE
& 23 54 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozstd 2gXH 28,000
MEzslless3e NJAY 230,280 132,600 97,680
< 30,280
e 200,000
307 21201 A 230,280 132,600 97,680
< 30,280
e 200,000
02 QIAHFAANGFEX 230,280 132,600 97,680
QueE=si=sss asid 230,280
< 30,280
s 200,000
S=HH =&K& 50,000 49,000 1,000
307 21201 A 50,000 49,000 1,000
02 It S AIHE L 50,000 49,000 1,000
osd =M XA 21,000
OAE=s0l SEAY X 19,000
OAZ s Zdisl &2t XA 10,000
Esttlzn=s 228 2,275 A2,047
< 68
s 160
HSAEL HEs € 28 228 2,275 A2,047
< 68
s 160
307 gl2tol& 228 0 228
< 68
s 160
02 It M AHE L 228 0 228
OOtSCH2 010k EMHL ALY 228
< 68
[ 160
EMAES s 201,825 416,318 A 214,493
= 16,701
< 17,496
e 167,628
THEN 2F 38,129 73,365 N 35,236
201 LB-2E| 28,129 23,365 4,764
01 At 22l 4,640 3,320 1,320
O&F=Jl EH WA 80,000 *43| 320
OEMz Zely EH7Y 250,000& »23| 500
OF - =N = 125,000& *43| 500
O=NM2 EM2el & JEAZE 7Y 2,000
O=&d gz 110,000 x 1+ 12& 1,320
02 2324l 23,489 20,045 3,444




SN SHAHSHIMYL
A BU=TE
Sl SN2 AE (B9 ®R)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
OZgEAM2 MRS 333,000& x12& 3,996
OZgz N2 tdFH=A 130,000& =128 1,560
OZEE M2 dot=& 23 20,000& x12& 240
ORYSHZ SH23 132,0002 #1235 1,584
OFYSHE HYUE RFRTU(SR)
817&+2,0004 1,634
OZEENZ RXNE=> 3,000
O3 M2 23l 3l 400
- 33T AME o3 sH(H=2) 300
- 33 M2 93l FH(M=XR) 100
OsSEZNMa2AIAE 7R 2e
831,170 128 9,975
OT-HOIH (M IHAE) SN2l 2750002 <48 1,100
405 XHoHF S HI 10,000 10,000 0
02 =M=l 10,000 10,000 0
OZEEMNE TA7Y 10,000
ReCHB 2 XY 24,300 62,400 £38,100
405 XHoHE S HI 24,300 15,000 9,300
01 MHatL S =3 S| 24,300 0 24,300
OLMBIIITTH(ZAI)  1,700,0008 *174 £ 1,700
OHA2ENMZ JIsSSA<FEH M &> 22,600
-0y ¥ g48# 19,000,000 * 14l 19,000
-3 FH 1,100, 000& = 1CH 1,100
— BT Z ME 2,500,000 » 14! 2,500
2o M 294 NA(EX) 91,679 0 91,679
= 17,496
[ 74,183
101 124l 62,079 0 62,079
< 8,616
e 53,463
04 JI2ZtHZ22HEE = 62,079 0 62,079
O M2 829 21Addl 20,693,000 304 & 62,079
< 8,616
s 53,463
201 £B-2dH| 9,600 0 9,600
< 2,880
s 6,720
01 At 2t 2|l 4,800 0 4,800
OX2EM2 422357 & =2J SH
1,200,000 *4H 2~ 4,800
< 1,440
s 3,360
03 A2 Z Hl 4,800 0 4,800




FA: 2SHS2ZAG A
A BU=TE
©9: SASs As (er:@e)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
oMz 23tx20d 29
1,200,000 *4H 2~ 4,800
= 1,440
s 3,360
405 XHoHF S HI 20,000 0 20,000
< 6,000
s 14,000
02 =M=l 20,000 0 20,000
oMz TA7Y 5,000,000 «4 4 & 20,000
= 6,000
s 14,000
S3EM2 H2AIZ2t AF 47,717 45,553 2,164
= 16,701
[ia 31,016
101 14 dl 44,717 41,953 2,764
= 15,651
i 29,066
04 JI2ZtHZ22HEE =+ 44,717 41,953 2,764
OSSN HEAZAZT2Y Q1A
22,358,500 x2H 44,717
= 15,651
[ia 29,066
201 Let2d] 3,000 3,600 A 600
= 1,050
e 1,950
03 &Ar2 I 3,000 3,600 A 600
O3 M2 HZAAHE2E T2 3,000
= 1,050
s 1,950
23 EA =4 847,556 608,716 238,840
< 5,550
[ia 842,006
ZUHAIE &5 847,556 608,716 238,840
< 5,550
[ia 842,006
= 85l Y 22 724,056 485,316 238,740
101 @124l 54,759 5,180 49,579
40|12t Z22HEE = 54,759 5,180 49,579
Ox=g &, dAd HEs 2d2e 49,332
-Jles 60,300 x2H »246 29,668
—ResgsE 60,3003 »2H 52 6,272
- 523y 90,4502! * 1% +522 4,704
— XY 60,3003 x2H 12 1,448
— ZE S| 200,000 »2H 23| 800
—gsz 6,440
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Sl S 22 AtE &

I giPE/\I ES]
ool 20AE =5 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 18,500 2,400 16,100
= 5,550
= 12,950
03 #A2EHI 18,500 2,400 16,100
O2sJ Aes & 2L (2032) 16,000
= 4,800
[a 11,200
O23 Aes ¢ 2 (=) 2,500
S 750
= 1,750
zUHE 54 3,657,367 4,081,660 N424,293
Xl 300,000
Jl 119,456
& 69,046
[Ea 3,168,865
zeH=E 243 1,182,988 1,411,070 N 228,082
Jl 119,456
< 44,046
= 1,019,486
A =& et 11,672 11,672 0
201 LEr2 Y| 5,672 5,672 0
01 At 22l bl 2,672 2,672 0
OMEdAL =& =& 7,000 x4 »24A 672
OdINRES 7 100,000& =102 1,000
OMES&dHAL 224 1,000
03 A2 3,000 3,000 0
ONM17al 59 SRA=TAU KAl 3,000
202 O Hl 6,000 6,000 0
01 S OHI 6,000 6,000 0
ASHSUH =T 6,000
AE MSHa #A =8 L X 200,755 141,700 59,055
307 212tol & 200,755 141,700 59,055
02 (B AANHEE 68,850 59,100 9,750
OM=sg4ds Z218 24X 50,850
O&Xed =i &« K& 10,000
Ozt Msgds 2278 29 8,000
03 eAHNEE2SHIEE 131,905 82,600 49,305
OM=sz249H X& 131,905
—AN2=E 2| 30,690
—HM=3 2tAb 2] 19,200
—Hd=s=2 29| 82,015
d=H2 MU Of= 102,000 105,000 23,000
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Jl
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134,040

A 6,000

307 glz2tol ™

y

M
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mm

FMSXESX X (2SXE)
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FA: 2SHS2ZAG A
o PONS S4
&©e: ZUME 245t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 3,020
s 7,120
OZEXNEXN 29 11,440
< 2,028
s 9,412
AZAM0IEA X 24,320 24,000 320
J| 17,024
< 3,648
[ 3,648
301 et a = 24,320 24,000 320
J| 17,024
< 3,648
i 3,648
01 MEIBE X263 24,320 24,000 320
OAZXOISAHAXNE ALY 24,320
J| 17,024
= 3,648
s 3,648
dE M= sse 2 XNE 41,000 41,000 0
< 8,000
s 33,000
307 gl2tol & 41,000 41,000 0
< 8,000
[ia 33,000
02 SIZtA M AHE L 41,000 41,000 0
odexs sseleld XA 41,000
< 8,000
[ia 33,000
ZA=CUH=SEH 29 93,639 94,674 A1,035
101 @124 dl 23,319 19,604 3,715
04 JIZHHZ2XREES 23,319 19,604 3,715
OZA=ZUMSHE 22| 22 =™ 23,319
—Jl=s 60,3003 x 1 246 14,834
-—f252 60,300 » 1 x522 3,136
— QX 60,3003 x1H+10 603
—AN22RsE
60,300 /8x1.5%15A1 2t 12& 2,036
— ZE S| 200,000& »23] 400
— 28z 2,310
201 LBt | 65,320 70,070 4,750
01 At 22l 10,560 10,550 10
OFA=LUNSHEH LAY 50,000& 100 5,000
OFA=YUMSHE 2 5,560
—gA% 2EE8EF 7Y 200,000& =128 2,400
—d3A8F 7Y 100,000& 12 1,200
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FA: 2SHS2ZAG A
dM: ZoHsE 84
ool ZONS #48 (298 R)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
=t &85 =03 X 15,000 10,000 5,000
307 gl2tol & 15,000 10,000 5,000
04 DI2ZHHALALSE E X 15,000 10,000 5,000
O=Hth d= 2=0s XA 15,000
HdEAMOI2tE sl &ItXA 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALALH 2 = 6,000 6,000 0
OH=d0tctE el BN 6,000
=t = BHECQIEIS XI& 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
O=Jith &= HHEIEHa XI& 15,000
S E203 N 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIR B = 5,000 5,000 0
OSgueg =203 XA 5,000
=il BI=CHal XI& 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHBAFALRI 2 X 5,000 5,000 0
O=HtH Bt=CHal XA 5,000
d2WA=22401Y Hal K& 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
O&=IHei=2ct0lY tHal XA 10,000
=7 Sgtis X2 6,300 4,300 2,000
307 21201 A 6,300 4,300 2,000
04 QIZFHALAIH B = 6,300 4,300 2,000
Oz SEtiial XI& 6,300
HOIESHe =8XE 16,800 16,800 0
307 21201 A 16,800 16,800 0
04 DIZHHALALSE E X 16,800 16,800 0
OAOIE=U3 XX 2,400,000&+7HEH 16,800
2L XNEI HOIEZSUHE K& 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DI2HHALALSE E X 3,000 3,000 0
O3 XIs &I HOESUS XA 3,000
sSgoY dstHal M 70,000 70,000 0




FA: 2SHS2ZAG A
dM: ZoHsE 84
ool ZONS #48 (298 R)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
307 glz2tol & 70,000 70,000 0
04 DI2HHALALSE E X 70,000 70,000 0
Os8YUAY MFUS M=
10,000,000& «7H S & 70,000
20lod MSUsl AN 135,000 130,000 5,000
307 21201 A 135,000 130,000 5,000
04 DIZHHALALSE E X 135,000 130,000 5,000
OZ2oYg XN=CHal SHAHIHE 135,000
—&+=ZHs3 30,000
—SHA=s3 15,000,000 *7H S & 105,000
F=ZHEMSUE =l 12,000 10,000 2,000
307 gl2tol & 12,000 10,000 2,000
04 DIZHHALAISE E X 12,000 10,000 2,000
OF=ZHAEMSUHE M= 12,000
=S HUA el K& 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
O==dtbf HILIA Tial X& 10,000
Jdet2&E==Z0s X 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
Odct2E==Z0s X 10,000
HdetSEHdMsEHa #oF X3 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
Odt==dM=a It XN& 12,000
gozeA Zolls &8 XA 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
oz A s =& X 3,000
dEZMMEHsUHE XA 8,000 11,800 A 3,800
307 glz2+ol & 8,000 11,800 A 3,800
04 QIZFHALAIH B = 8,000 11,800 A 3,800
OoozdxdsUs &t XN 8,000
2E M=0s sdXf 2 27203 HE XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0




2N

-
o
B 2
2

el ZUMS 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o2& MUz 23X & 272U HAl
A& 20,000
MERIBA Alaa X3 8,600 0 8,600
307 gl2tol & 8,600 0 8,600
04 DIZHHALALSE E X 8,600 0 8,600
OMER3A Al&al XA 8,600
g&sHS2n 28 N2 7,700 0 7,700
307 glz2tol & 7,700 0 7,700
04 QIZFHALAIH E = 7,700 0 7,700
ogEaEsH=8Y 28 X 7,700
B od==0H €203 XA 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
O+ A==t &3 X& 3,000
H99sl d=H<=Ua XA 8,930 0 8,930
< 8,930
307 21201 A 8,930 0 8,930
< 8,930
02 IS AT EL 8,930 0 8,930
O4dstes 2YXNA(HEHHR) 5,000
< 5,000
OZJIZ CHHERE, St S K& 3,930
< 3,930
HEALE &= 1,932,309 2,130, 150 A 197,841
Xl 300,000
[ia 1,632,309
HEAE |FX2el 905,309 215,150 690, 159
101 14l 18,090 14,550 3,540
04 J12ZtHZ22 X 18,090 14,550 3,540
OZ3H=A =8 M= 2 &2
60,3003 *5H 52 *43| x30H A 18,090
201 LBt2H| 34,419 34,100 319
01 At 22l 2,600 9,100 A 6,500
OA&2ed dEE Y 2,600
—H&E=Z4 SIHA= 7L 200,000 =13 200
—ANERX L ELARE TN 2
100,000& = 12& 1,200
—HSAE °tE HIXI  30,000% *4004 & 1,200
02 =24l 31,819 25,000 6,819
OSSHSEAl LorMEFY EY 25,000
Oxg |=l 1,2733 %102 =300 3,819

_14_




N 2HSZ2ZAS A

¥ Z2oNE 24
S A=FANE =5 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oxg KAl 250,000& = 12& 3,000
202 04| 2,600 2,600 0
01 2LHOHI 2,600 2,600 0
OLS8H MESAE KX 2 2,600
206 M = dl 13,200 13,200 0
01 = bl 13,200 13,200 0
OZ2Z2HM=AE g & H=2E2sH 7 13,200
—HlzE 7 6,600
—AESESH 7Y 6,600
401 A& H L 2T 807,000 150,000 657,000
01 A& HI 806,000 150,000 656,000
2E HFANE 22l RAES 40,000
OB£BHAIIE =8 JBAS AT 60,000
OBLSSH HUAF 81 24 20,000
oY =% Al 50,000
OZAMSZH 528 2LH 4L &
600, 000& *210m* 126,000
OFLAAHNOIEER(URE XE) &X 400,000
OsUMEAE & 23017 22 XA = 20,000
Ol ARAZMEMEAE =4 90,000
—&0lE 2307 & HIJtEAE &X 15,000
—MAMENM 28017 L HIJtEAId &X 15,000
— BN 2SI & HIIIHAE &X 15,000
—&dHEss 2807 L HIIGEA4E 4X 15,000
—HESE 23I|7 & HIIIHAE &X 15,000
—HEgus 23J7 2 HItgEAld 4X 15,000
03 A& 20HHI 1,000 0 1,000
OMESAE SX2lAISE AlE 20 1,000
405 XtabF S| 30,000 700 29,300
01 AL =2 EF SHI 30,000 700 29,300
O&H=VUMEHEH 2517 WX 0
OFAH=UNRHNMYH 2AE 23I|7 WA 30,000
—ddal W 8,000,000& =3CH 24,000
—2UE DA 400, 000& *504 2,000
—HE 220l WA 4,000,000 *1CH 4,000
MENSAIE ZHAIS 27,000 40,000 A 13,000
401 AIEHIL 20| 27,000 40,000 A 13,000
01 A& Hl 27,000 40,000 A 13,000
O=24d &1 & HSANE HIHEER<F2UEHEA
Off &F> 13,500




<
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1,000,000
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FA: 2SHS2ZAG A
Bu: 2uHE 84
& ME23 243t ¢ s |4 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
O3t 28z = 9.400
NE2sdlR 29 A& 25,000 23,000 2,000
< 25,000
301 L2 A F 25,000 23,000 2,000
= 25,000
Vo=t - 2SRES243 25,000 23,000 2,000
Ot 23| 25,000
< 25,000
28 s 1,387,993 2,141,190 AT753,197
Xl 126,000
J| 10,780
= 9,170
[ia 1,242,043
4N ES 369,163 356,799 12,364
X 17,000
J| 10,780
< 9,170
[ia 332,213
2TEBHF Lot 126,217 159,833 A 33,616
101 @14l 22,246 19,148 3,098
04 JI12ZtHZ22HEE = 22,246 19,148 3,098
O2A=0f SHEHHE Y (=ML 22,246
—Jles 60,3003 x 12 x246 14,834
—Resgs¥ 60,3003 1«52 3,136
—522RE 90,4503 x 1 14 1,267
— BE S| 200,000& x1H «H 23] 400
— QX 60,300& 10 603
=== =1 2,006
201 LBr2 Y| 92,771 95,485 ~2,714
01 At 22l 84,400 88,900 24,500
OAnZEEESHH 49,400
— 2+ OFLH 2 XAl & 10,000& *2,000= 20,000
2t OHLY X &= JI & 300& 50,0008 15,000
— N2 22N ME
1, 100& *4,000% 4,400
— =288 &£88 =5 HZE  1,000&+5,000% 5,000
— =9 50,000& x1004! 5,000
O=ZIESHH 30,000
OAZEEE AXS 288 €39 M
25,000 2002 5,000
02 =224l 8,371 6,585 1,786
OAZEEZE SRE 28 & 9= 1,525
-2 2,350& 50004 1,175
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FA: 2SHS2ZAG A
Hu: pEAE
ol RENEES CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— gtz 7,000& x503] 350
Oz ZHXNSE 8= &JIRa 15,0008 128 180
OCXEAOILIXI S Xl2eltl 6,666
—S5E= 220,000 1228 2,640
— oY e & 22,0003 «x12& 264
—&J=z 11,000& 128 132
— S Al 220,000& »12& 2,640
—gaEZH s 330,000 »34! 990
202 44l 11,200 5,200 6,000
01 S LHOIYI 11,200 5,200 6,000
o R EE2ES 7,200
OZZEZYAN &A 4,000
—HMSEd=O0E 100,000 »2H x33| 600
— 2t &4 400,000 *2H x33] 2,400
— AT YEo L HA2EAF E20HHE
50,000& x203| 1,000
Hd=E2EHS0E &4 3,000 2,000 1,000
201 Let24E] 3,000 2,000 1,000
03 A2 ZHl 3,000 2,000 1,000
OE=EHE0E &AL EF4 1,000,000 *32] 3,000
22EE B3 &It 21,000 7,000 14,000
201 Let2d] 21,000 7,000 14,000
03 &Ar2 Gl 21,000 7,000 14,000
Oozzergs &4 7,000,000& x33| 21,000
2BURX =0HA LHEIEX S 3,000 3,000 0
301 et A Z 3,000 3,000 0
1MIIEESS 3,000 3,000 0
OZFHRX =0AAM AQUEIEXS
10,000& 300 3,000
== AMEIEO HA 29 22,000 12,600 9,400
201 Let2d] 4,000 3,600 400
01 At 22l 4,000 3,600 400
O&= ANEIE0dHA B 4,000
—ANEIS0 282 2= WA 2002 +5,00004 1,000
— X gE Z2ONA 1,700,000& 14 1,700
- 28 8% 50,0003 104! 500
—ANEISF0 28 E2210 400,000& »23] 800
301 e A3 18,000 9,000 9,000
1M1IIEESS 18,000 9,000 9,000
O+ ANMEENHHA 294 450,000& *403| 18,000
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2AM: A2 ALY A
Ny BEIE
tel: 22NASE (el &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
=ot&ZSHOIX 22| 3,780 3,708 72
201 Bt H | 3,780 3,708 72
02 352494l 3,780 3,708 72
O2g&2 EHOIX SXA22 315,000& 128 3,780
ZStHZHEA YL 56,630 42,100 14,530
Jl 10,780
= 9,170
= 36,680
301 dEtEAZ 56,630 42,100 14,530
Dl 10,780
& 9,170
= 36,680
11 IIEtE A2 56,630 42,100 14,530
Ot &2l & A &5t 56,630
Dl 10,780
< 9,170
= 36,680
SAZMNEA LS 2SKH 2,880 0 2,880
301 YerE A3 2,880 0 2,880
11 IIEtE &2 2,880 0 2,880
O=2st&HZoH& A A& X AS
120, 000& *6Y x4 3] 2,880
ZZAEE 22 80,606 68,508 12,098
101 2124 1| 22,246 19,148 3,098
04 JI2ZtH22XNEE % 22,246 19,148 3,098
OZMHIEAI 2 220 29 22,246
—-J|I=23 60,3003 *1H 246 14,834
—F=52dsY 60,300& * 1 52 3,136
— 52422 90,4503 *1H %14 1,267
— @& E0y| 200,000 x1H *AH 23| 400
PN 60,300& *1H x10L 603
— B8 2,006,000& x1H 2,006
201 2yt 2 Y| 43,560 39,360 4,200
01 AFR2t2l bl 16,740 19,740 A 3,000
OENMHIEAIZ 2 13,740
—EBZ M 700& *5,000% 3,500
—dgzz)d =2 2 200,000& *63| 1,200
—HAAEY =52 1,300,000& 23] 2,600
—&HAE HE 7 200,000& *53] 1,000
-3 E2 Y 100,000& x4 3] 400
— 2l AIREE 2¢ 100,000& = 12& 1,200
— 427 222 200




FA: 2SHS2ZAG A
Ny BEIE
el HEAEEE (el &™)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— &R 10,0002 *304 300
ZZ2MH #Z AAY(78) 3,100
—ZETEH X & JtECX FYH
240,000& x13] 240
OF=Z2EHHEXNE > 3,000
02 2324l 26,820 19,620 7,200
OZMEIZEAZ B22R2= 26,520
—CHY & MRS 50,000& x12& 600
— &t Y 160,000& =122 1,920
—dIRea 1,600,000& »12& 19,200
—UARS 150,000& =128 1,800
— &3t EA 300,000& =13l 300
— IAaEH 22EZ 2,000
—APANE HSEZ 700
OF&Q=x0s IS 25,0003 x12& 300
401 Al Bl 28I 10,000 10,000 0
01 Al 10,000 10,000 0
OZANEESRA 2L 10,000
405 THobH S| 4,800 0 4,800
01 AU SEH S| 4,800 0 4,800
OZIMHHIEAIZ &2l & 1,200,000 =404 4,800
22O A RS 24,000 42,000 A 18,000
Xl 12,000
s 12,000
401 Al& I 28I 24,000 32,000 A 8,000
X 12,000
s 12,000
01 A& HI 24,000 32,000 A 8,000
O2ZoHHEXEHAEXLMNE = 24,000
Xl 12,000
s 12,000
ZZUHMAHA RS (T2 22X S) 10,000 0 10,000
Xl 5,000
s 5,000
201 et 10,000 0 10,000
Xl 5,000
[ 5,000
01 At 2teltl 10,000 0 10,000
Ot=01 22t XI & JI & 10,000
X 5,000
s 5,000
SZIHA QI PR FALS 16,050 16,050 0
308 A EHHSOIA 16,050 16,050 0
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EXN: SHSHZTAIE A
Hu: pEAE
Ce: AZXNIFEE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
07 NIXSHH2ESSZ2 16,050 16,050 0
OF=EEHHA 29X 16,050
ANela# 202X e 718,830 749,391 A 30,561
N 109,000
= 609,830
XNel ot 2o LBt 23,400 56,750 A 33,350
308 XAHXIGHH SO0l & 23,400 56,750 A 33,350
07 AXSHHZ2ZHES S 23,400 56,750 A 33,350
OXelatH 22 xs 22 23,400
Xelard XS Msaa 20t 10,000 10,000 0
201 et 9| 10,000 10,000 0
03 A2 | 10,000 10,000 0]
OHM143 Xelad M=z =2 10,000
Xleldtd 22012140 24 20,000 0 20,000
308 AMXIESHMSOIA 20,000 0 20,000
07 NIXSHHM2AREESS S 20,000 0 20,000
OXlelata 2Zo2ta 0l 249 20,000
XNelotd AN 2pZASIHY 7,000 0 7,000
308 XHXIEHSOIA 7,000 0 7,000
07 NXSHHZ2HESSZS 7,000 0 7,000
ORXelad AN 22AEINE 7,000
XNelotd 22HES AFY 5,600 0 5,600
308 XAHXIGHH SO0l & 5,600 0 5,600
07 AIXSHHZ2ES S 5,600 0 5,600
OXeladH 2Z2EHIDG A 5,600
XNelatd 222 LHE &9 2,300 0 2,300
308 MXISHMSOIA 2,300 0 2,300
07 MIXSHHM2AREEE S 2,300 0 2,300
OXelda 2232 LEHE 29 2,300
SUHAZR MAH 23R4 XNE FX 10,000 0 10,000
308 XAHXIEHMSOIA 10,000 0 10,000
07 NIXSHH2EESS 2 10,000 0 10,000
ORUAR HMAHASSRA NE 84 10,000
ANgEH L AeUNS 2T X229 SHE S 10,000 0 10,000
[e:]
308 XX SHHSOIA 10,000 0 10,000
07 MIXSHHMZ2UAREES S 10,000 0 10,000




2N

T2
Ny BEIE
S Xelahd 22X He (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONgea 2 ZeZdes st 28292 =0
Zot Y 10,000
EUZOMNMA RS (ZHY X2l astutA A XA 114,000 0 114,000
H oZmetRdAY)
Xl 57,000
[ia 57,000
308 XiXI EHAI S 0 & 114,000 0 114,000
Xl 57,000
e 57,000
07 IXNSHH2AURE = 114,000 0 114,000
OXlelstetdr3 akek Xt lEetEH ALY 114,000
X 57,000
s 57,000
EYZOMHMA RS (Y srEdZ Ha 104,000 0 104,000
=EZ2 ZHAY)
Xl 52,000
i 52,000
308 XXM SOl A 104,000 0 104,000
Xl 52,000
e 52,000
07 IXNSHH2AURE = 104,000 0 104,000
OXlelgt=elz oA H 2 P2 ZH ALY 104,000
Xl 52,000
s 52,000
AL (= 22X 224]) 412,530 291,641 120,889
101 @124 dl 171,772 38, 166 133,606
04 JIZHHZ22XNSE+ 171,772 38, 166 133,606
Oll= 22X 28 222X 61,768
—Jlegs 60,300 x2H 260 31,356
—ResgsE 60,3003 x2H 52 6,272
— 52 60,300 x2H x40 *1.5 7,236
— QX 60,3003 x2H 12 1,448
— ZE S| 200,000& »2H 23| 800
— U2 RE 3,7653 2 6 Al 2t+200 9,036
—E8= 5,620
o= 22X of22 57,901
—Jlas 90,4003 x2H x183 33,087
— |5 60,300 x2H x522 6,272
— QX 60,300 x2H 12 1,448
— A2 3,765% *8A| 2F+2H «1832 11,024
— ZE S| 200,000& x2H +23| 800
—S8= 5,270
Ol= &22ZX d=J] X 30,395
—JlE2s 8 60,3003 x8H x352 16,884
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2 SSHs2
Ny BEIE
el XaldA X O (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- F=5dsE 60,300 *x8H 6 2,895
— 5422 60,300& *8H 10 x1.5 7,236
— 5282 3,380
O&d=J] =2 2FX 60,300& *3H 20 3,618
O=sgAId HA0H 60,300& *3H x100Y 18,090
201 et A | 129,598 136,295 N6,697
01 At 22l ] 43,016 50,115 AT7,099
o= 22X 2822l 43,016
—cl 23 M 1,000& *1,5000H 1,500
— EHOIX 222 700,000& =6 & 4,200
—dXEBHAHASESER
400,000, 000& *2 . 5%*50% 5,000
—JlEllEs+E 100,000, 000& *4.0% 4,000
—dF#ANEH EX P 3,600,000 x 1Al 3,600
— AI2HIS 200,000& *53| 1,000
—AdLD| A= 60,000 x 1204 & 720
— SAI EXE 143,000& 1204 & 1,716
— == =23 At] 600,000& *23| 1,200
— PPOHCH 2,200& *1,0000H 2,200
— =2 HEE(75L) 1,350& *3,0000H 4,050
—SZHEE(10L) 180& *3,0000H 540
—ABRHOXE 50,000& *10= 500
—NEES 50,000& x50 2,500
—SI&A HA HSFEE 50,0008 x105*63] 3,000
— & 13,000 *330H 4,290
-3 100,000& *10MI E 1,000
—FHESE 100, 000& 20 Ml E 2,000
02 3294l 86,582 86, 180 402
o= 22X 24922yl 86,582
— A4 & EHH SFH(FLS)
1,486& *2,000¢ 2,972
— A4 & FHH SFRH(ESR)
1,273& *3,000¢ 3,819
— X L 2HEH =2l 200,000 *x35 *53] 3,000
— A& S22l 500,000& 1201 & 6,000
— oS A 1,661,000& 604 & 9,966
—&IIANES 4,000,000& =121 & 48,000
— &DJ|orA 22| CHEdd] 200,000& 1201 & 2,400
A== 700,000& =121 & 8,400
— XANEHI B A= 25,000& *13] 25
— 283z A 500, 000& *2JH A *23] 2,000
401 Al HI L £ 0HHI 106,000 0 106,000
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2N
X ZH -
L= B
el

SHSDIALL
2xE
2larE BRI e

SAH-EB .S (3H) - HEAY - BE2 il HDS2
01 A& HI 106,000 0 106,000
Otl=s22X My dl2els=HE &
35,000, 0003 *14] 35,000
OtH==2X ¢HSCCTV &
30,000, 0003 *14] 30,000
Oti=z&2X JI2s &X 5,750,000& x40 2~ 23,000
OZMHHIEAIZ =H Ui =& 3 At
10,000, 000& =14 10,000
OLLEYIHI HY &l 800, 000& =104 £ 8,000
405 XHoHF SHI 5,160 117,180 A 112,020
01 At = S F SHI 5,160 117,180 AN 112,020
Oxzds NMFHSES 5,160
— H& (2304 ) 370,000& =3CH 1,110
—&o|gHE 150,000& *3CH 450
—olgd 300,000& *=3CH 900
— &8 EI 100,000& *3CH 300
— 0l =0 500,000& *2CH 1,000
—— 400,000& =104 400
—HAI(ELE250 500, 000& =2CH 1,000
SEDIN HOAIE ZHAMY 300,000 1,035,000 A 735,000
DN BOAE ZAAS (KA 300,000 0 300,000
401 Al HI L 2 0HHI 300,000 0 300,000
01 A& HI 300,000 0 300,000
ORENIN HOAAIE ZHAIS 300,000
SR EX & 236,059 37,406 198,653
Xgogs 2el 236,059 37,406 198,653
=IHALE 22| 236,059 37,406 198,653
101 @121l 3,015 2,590 425
04 JI2ZtH 22 XNEE S 3,015 2,590 425
O=llAMY F=BHXH 60,3003 x5 x 10 3,015
201 LEt2 Y| 38,044 34,816 3,228
01 AR 22| bl 10,946 10,930 16
O=AY ZelAFR A 2 AHl 50,0002 *119 5,950
oulExxs= 35,000& *43] 140
O=AMY ZeAIRA Ty EUFY
350,000& *x23| 700
O=IAMY Z2AIRA SAD| gdils
143,000& *123] 1,716
O=MAE &CIZAI| J1H sX 22 600
O=IMNEE2Y A2F 70,000& = 12& 840
O=IMY EE2MH 1,000
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FA: 2SHS2ZAG A
M BoxrdEX BE
el XYIIEsE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 27,098 23,886 3,212
O=liAg dIIea 1,000,000 «12& 12,000
O=HAtY AIRY U8 RFIPY(ER)
17& *2,0004 1,634
O=MWAY AHALBY 442
237,000& 12 2,844
O=At"g S8e=s 90,000& +12& 1,080
O=liAE dot=E 2= 110,000& =123 1,320
O=HAtg OI2st &4 HolX HAsg
500, 000& »23] 1,000
O=AE YHAIAE 23 185,000& =128 2,220
O=AtE AlI8E2 RXE=> 5,000
206 M= Hl 10,000 0 10,000
01 M= 4l 10,000 0 10,000
O=lAg at&2 + 10,000
401 AIEHI L 2CHEI 185,000 0 185,000
01 A& HI 185,000 0 185,000
O=HALE ZelALR A X 50,000
O=Atg 2 B4 B 100,000
O=IHAIE Zojel MEEZ=Z HAI A dHES 35,000
2oR4ao B& 9,218,175 1,687,588 7,530,587
= 948,859
Xl 2,750,000
< 1,840,854
s 3,678,462
2o 2e 3,113,175 1,334,588 1,778,587
= 948,859
< 640,854
s 1,523,462
=0t XIE &g 10,911 11,024 A113
201 Let24d] 10,551 10,664 A113
01 At 22/l 2,000 2,300 A 300
OF=guw 2e=235 7*¢ 1,000
O¥=gw 222 M=% 1,000
02 =24l 8,551 8,364 187
OF=x=guw 4otk 2= 40,0003 123 480
O SRS 50,000& x12& 600
O&=gn 8JIR3 4,000
OZ+8D BUNSY LY
817&+1,8004 1,471
OZ=gu AEE SN2+ 2,000
206 M= Hl 360 360 0
01 M2 8l 360 360 0

_25_




2N
X ZH -
L= B

el

x

Id]
=
1)
B>

ﬂ— 36 ﬁ—
0

z 1

HO MO Mo

tol toi ton
o
HT
17

=
el
o
m
40
m

10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OF+=gtn 2| 52 28 12,0008 x10E «33 360

=INE=23H & SSE=M 284 X 376,000 25,000 351,000
259,200
58,400
58,400

Mo H

401 AIEBIZ 2T 376,000 10,000 366,000
259,200
58,400
58,400

Mo H

01 A€ HI 376,000 10,000 366,000
et HEd F=HIHISA 346,000
242,200
51,900
51,900
OF+etn HWE&E EIH0l LHMA 20,000
10,000
5,000
5,000
OFgIIge |Aael (=l ASE) 5,000
3,500
750
750
OFdAIIgE sXZe(S84el LEUR) 5,000
3,500
750
750

MW U AT Mo H

Mo

& XE 2l 8,381 8,000 381

4,007
4,374

M H

201 fEt2E | 8,381 8,000 381

4,007
4,374

EURLY

peia] 8,381 8,000 381
T2 U-etE2elAAE KA 8,381

4,007
4,374

EURE

NEXNEH2M 234 466,000 364,000 102,000

233,000
233,000

Mo

101 Q124 H] 16,000 0 16,000

8,000
8,000

M

04 JIANMZ2XSE* 16,000 0 16,000
Os2Es SZae|tt 8,000,000& *2¢! 16,000

8,000
8,000

M H

401 AIEHIZ 2 I 450,000 284,000 166,000

_26_




M0 MO MO

x

Id]
=
1)
B>

ﬂ— 36 ﬁ—

=
el
o

10
0

tol toi ton
0 1
HT
17

x

!

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

M

225,
,000

225

000

01 A& dl

O
]
0x
0y
{0
H
s}
L]
>
kJ
>
0
b
to
0z
Ho
HT
1>
0x
[==

O
5]
lon
Mo
N
Jo
HT
1>
0%
==

e
04
0
[0
S
o
hi
1
04
=5

Mo M H UL UL EUE EURLY UL

M

450
25

,000

,000
,500
,500
,000
,000
,000

68,000

34,000
34,000

55,000

27,500
27,500

30
15
15
231

,000

,000
,000

,000

115,500
115,500

4,000
2,000
2,000
17,000
8,500
8,500

284,000

[> HO

0o ton

~ =
i
=
=
1x
10
pal
o
o
pal
o
Mo
ton
=
=
rc
02
pal
=

U AT

18,000

12,600
1,620
3,780

18,000

N
2
ne
s
M0
02
[

U AT

18,000
12,600
1,620
3,780

18,000

= H
Odgsatatc] S9Xa % SMAIE S 2

MW

18,000

18,000
12,600
1,620
3,780

18,000

Mo

34,400

11,560
22,840

22,400

EURE

22,400

6,760
15,640

22,400

22,400

22,400

_27_




S HS2ZAS
EotFAe BE
23t 2el (&2 d &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SENEEE S R
1,250,000& = 12& 15,000
= 4,800
s 10,200
OEXNESE23 S AHI 5,000
< 1,000
[ia 4,000
OEXNHLHLH H4+T83
200,000& 12 2,400
< 960
[ia 1,440
308 XtXIEHHSOIA 12,000 0 12,000
< 4,800
[ 7,200
08 I 20UStE=x 12,000 0 12,000
OlN=Z1n d=2=s9 858ty NJAMY 12,000
< 4,800
s 7,200
gt sty 249 8,709 8,709 0
< 3,484
[ia 5,225
307 gl2tol & 8,709 8,709 0
< 3,484
s 5,225
02 IZHEHAHE L 8,709 8,709 0
Ogn gesty 29 8,709,000 » 104 2 8,709
< 3,484
[ia 5,225
SEs HsBEE 50,100 32,000 18,100
307 glz2+ol & 50,100 32,000 18,100
02 ItE M AHEE 50,100 32,000 18,100
O%n RFMES=2s MAOIZH) X 3,500
Ogw |ILE b XA 3,000
Ogn DAE2e 2gd X 3,080
O HMelE ML X 14,520
ONMZ Hel K& 6,000
Ognss ¥ sltus 24 X3 20,000
= ADLX] 2 el 313,356 30,439 282,917
101 @124l 9,045 5,180 3,865
04 JIZHHZ2XNSE =+ 9,045 5,180 3,865
O=MaILX 32| 60,300& x5 302! 9,045
201 Lt 22,711 20,279 2,432
01 At 22l 3,640 3,640 0
O ARATEH EHFRY 300,000& »23] 600

_28_




2AM: A2 ALY A
HH: 23|M0 BE
S 23 M 2 (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ovlexs= 60,000& 43| 240
O=IHMIIX &2 A2 2¢ 2,800
02 3524l 19,071 16,639 2,432
O=IHMIIX &3 700,000& 128 8,400
O=IlMIIX S22 50,000& x12& 600
O=HMIIXl RoBBIAIAG =2
130,000& *12& 1,560
O=HMIRl H=D| 22 =8
15,0003 x12& 180
O=HMIXl &dote+E 23 40,000& *123] 480
O=IHMIIX 22IARA G SR (SS)
817& %3,0004 2,451
O=MIIHX Hotx A =2
200,000& =23 400
O=lMIX A2 FANES 5,000
206 M = Hl 1,600 1,900 A 300
01 = bl 1,600 1,900 A 300
O=IHMILX &Cle 2 et 22 1,600
—N=2ESH 10,000& *45 30 1,200
— & CE HlE 20,000& *20 & 400
401 Al B 2 0HHI 250,000 0 250,000
01 A& HI 250,000 0 250,000
O=HMILX B EZEZ AL 200,000
O=HMIKl ==3HIAr 20,000
O=HMIK = HZ S A 30,000
405 XHo&HF S I 30,000 3,080 26,920
01 AL =S EF SHI 30,000 3,080 26,920
O=IMIX Jlg SESEH 30,000
S Lerae 457,200 564,400 A 107,200
201 L2 A Y| 16,200 14,200 2,000
01 AR 22| bl 16,200 14,200 2,000
OSAESFRMA™Z Y 150, 000& *7H x4 3] 4,200
ONEE2SMNM S=EXNY A2t HAFHF S
250,000& »2H x203| 10,000
OXNE2SM =cl210AM HMZ 200,000& 10 2,000
202 04| 6,000 5,200 800
01 2LHOHI 6,000 5,200 800
OS2 M gRF=& 6,000
401 Al HIL 201 435,000 395,000 40,000
01 Al &bl 435,000 395,000 40,000
OSEZ3IM B4 .8H| 350,000

_29_




o o o o o Al [eN] [eN]
o o o o o o Y] Ye)
< < < < < N © ©
n0 g 3 3 2 = - © ©
El
E=]
o o o o o o
o o o Al
o o o <
= S = o
LH 3r = = =
uilEd
RS
o O o o o o O o O O O O OO O O O O © OO Ol O ool ©o oo o o oo o Al © M M Al O MO M|l &l © ™
o O O o o o O O O O O O OO O O O O O OO O O OO O O© OO o oo o o o 0 Al © © N A0 © © | WV A ©
S S 3 S S| S0SQ|ooUB|IE & OmMN S SO OS OMWMIS O 5SS S OMW|C MEOO|G MO Y|IC © MQ
o O o o u o O O O O L MNMNMNMNIO <&~ MO M O© 0O IO LAANIO &£ Al © ©W © MmO O O M — — O O — — | ©O© M —
o O AN — O O O O»® o o — ™M O 0O WM 0O O O O X M~ O
(ep] M~ O — — N O — — | M — o
aor
<
=3
W W W Wt Wt W W W e W W
ar
0
A 3l
* <
D _ = _ _
—_ uUﬂ.AI D0 D
M. w2 ) o -
- = B oo < A0 ~O =
T |w = 70 T - -
. xowﬂ_xT xo. M < < K] w_u_
—~  IRF SRS Ho Ao <) ll
= |M o A M R Hr K A mﬂ
o o= T W = R — = =
= = = D i — iy -
— = ol A = OKF = 10 ] - T0
s oy 0} O 7 i &) &l <
A S o 0l i3 > = Al - -
W @ % R T oK = = H il = 30 30
o e R = | 5 M i R R = oK oH
I = R T )| Rl g < 0 A A 2 3 Mo
R0 O O O 3 A O @ ol ol ] ol H0
. — ] au ] = — ]
o o o o o o

K]

_30_




2N
X ZH -
L= B

el

x

Id]
=
1)
B>

—.—;1,(—)—.—
0

z 1

HO MO Mo

tol toi ton
o
HT
17

=
el
o
m
40
m

10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

1,663

0z —
0z
M0
ol
=
]
ot
P
11

30,000 0 30,000
12,000

5,400
12,600

MR

307 21201 & 30,000 0 30,000
12,000
5,400
12,600

Mo A

02 HAHFHYANEEX 30,000 0 30,000
A(HFUH2AS 2 F=IH0f) 30,000
12,000

5,400
12,600

U RN

Mo
ol
=
e
rz
(OS]

H& Xl & &2 95,466 80, 196 15,270
47,733
14,320
33,413

MR

101 @124 H] 93,966 80, 196 13,770

46,983
14,095
32,888

Mo A

2NSES 93,966 80, 196 13,770
OZ=+gu Hdd ¢HFHA HIXIAL

1 AN FHE WS 3H 93,966

46,983

14,095

32,888

&)
)
N
o
S
S
10
F

UL RIY

201 Let24E] 1,500 0 1,500
750
225
525

Mo H

Bl 1,500 0 1,500
OZ=+gu Hdd ¢HFHA BIXIA

500,000& »3H 1,500
750
225
525

U AT

gt SAMOUH X 10,000 5,000 5,000
5,000
,000

Mo
o

307 21201 A 10,000 5,000 5,000

5,000
,000

Mo
o

02 QB LA EX 10,000 5,000 5,000
OZ+gu MdadAS 10,000
5,000

t




S HS2ZAS
2sRM0 BE
23t 2el cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 5,000
HEAME ETHAAY” 2= 422,000 0 422,000
= 211,000
< 105,500
s 105,500
402 2I2HXHE01 M 422,000 0 422,000
= 211,000
< 105,500
s 105,500
02 It X2 A E X (01 A 422,000 0 422,000
O ZAL ETHAIAE 2= 286,000
= 143,000
< 71,500
s 71,500
OB LMMAIAE F 136,000
= 68,000
= 34,000
s 34,000
AESFRLUAWFAEY 46,000 0 46,000
= 23,000
< 6,900
s 16,100
307 gl2tol & 46,000 0 46,000
= 23,000
< 6,900
[ia 16,100
02 IZtF M AHE L 46,000 0 46,000
OXNYGZstRL NEAY 46,000
= 23,000
< 6,900
[ia 16,100
JHOFE 3t 7o B E2tel 6,105,000 353,000 5,752,000
Xl 2,750,000
< 1,200,000
e 2,155,000
JHOFS A HUIALY 35,000 295,000 A 260,000
201 Lt 35,000 5,000 30,000
01 At 2t 2l 5,000 5,000 0
OZ=JI0F MAR LS 5,000
03 A2 Z I 30,000 0 30,000
OF==JI0F &8 HdIEZA 30,000
tOF23td €837 = 10,000 8,000 2,000
308 AHAIEHHSOIA 10,000 8,000 2,000
07 IXNHMAR S = 10,000 8,000 2,000
OJtor2etd Xggd g3 =2¢3 10,000

_32_




<

n0

Kio

Hl w

30,000

30,000

30,000

A 20,000

20,000

A 20,000

500,000
200,000

200,000

300,000

300,000

5,500,000

H3r
Wikd
RIS

50,000

50,000

50,000

Off &t 24

10,000

30,000

H

15,000
15,000
30,000
156,000
15,000
30,000
30,000
15,000
15,000
30,000
15,000
15,000
30,000
15,000
15,000
30,000
30,000
156,000
15,000

500,000

mH

H

mH

H

1

H

1

H

mH

100,000
100,000

250,000
250,000
200,000
200,000

H

100,000
50,000
50,000
80,000
40,000
40,000
20,000
10,000
10,000

300,000

H

i

H

i

H

i

H

150,000
150,000

300,000

i

300,000

H

150,000
150,000

H

5,500,000

ol -
5 -

30
O
iio}
of
D

al
®[
RO

M0

ol

T KE

10}

307 21201 &

Ki
iy
&1

<0
il
~J

ol

st
=

OZ=Jt0F XA 0l

307 21201 &

K
H
ol
<0
0
~J

oJ

o}

<
ol
Rr
ok
<+

207 51 OH £ Hl

0197849l

ar
0o
il

or

Ki

ol

Rr
ok

=
H
<+
K0

ar
0o
pul

ior

KA

ol
Rr
Ok
<+
Mo

i
3
K0

ar
00
<H

or

Ki
H
Jld

Rr
Ok
<+

W

el

=
H
<+
K0

401 AIEHIZ 2 I

01 A& HI

RO
Rr

_33_




2N
X ZH -
L= B

el

O o ton

S HHD

EN

0

3]
=
1K)

o do =
o 1z 50
10 1o 1
HT

)
Etii

Z&el

x

!

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

H A

2,750,000
920,000
1,830,000

201 fEt2E |

HHA

100,000
50,000
20,000
30,000

100,000

03 &#At2 S
AL
e

Bl
on

A

100

100
50
20
30

,000

,000
,000
,000
,000

100,000

207 51 OH £ Hl

RUN R

2,450
1,225
450
775

,000
,000
,000
,000

2,450,000

Oz MERH €=M &
)

O
0z
4>
A
i
4>
10
I
ne
]
B
>
Jon

O
0
o
ot
iz
0x
10
)l
N
1]
I
=
Il

O&=Jt0
01Xl OH

T -—

b

U

e
0
il

H =

HoHA

Mo A

BN R ]

Mo

HoHA

Mo A

2,450
200
100
100
300
150

60
90

600
300
120
180
300
150

60

90

600
300
120
180
200
100

40

60

250
125
50
75

,000
,000
,000
,000
,000
,000

,000
,000

,000
,000
,000
,000
,000
,000
,000
,000

,000
,000
,000
,000
,000
,000
,000
,000

,000
,000
,000
,000

2,450,000

307 gI2tol &

-

50
25

,000

,000
,000

50,000

_34_




<

n0

Kio

Hl w

50,000

2,900,000

2,900,000

4,415

A 360

A 360

H3r
Wikd
RIS

67,969

9,600

9,600

Off &t 24

[t

15,000
50,000
50,000
25,000

Xl

H

10,000
156,000

2,900,000

mH

440,000
1,010,000

1,450,000
2,900,000

Xl

I

650,000

325,000
130,000
195,000

600,000

Xl

H

1

300,000

Xl

H

120,000
180,000

200,000

I

100,000
40,000
60,000
50,000
25,000

Xl

H

1

Xl

H

10,000
156,000

500,000

mH

250,000
100,000
150,000

200,000

Xl

H

i

100,000
40,000
60,000

700,000

Xl

H

mH

350,000

Xl

1

350,000
72,384

9,240

9,240

Ki
i
&l

<0
R0
~J

oJ

401 AIEHIZ 2 CHYI

01 A& HI

mm
)

RO
[gd]

]

2 HUISA

ol

ok

or
<+

Rr
ok
il

=

™
<
KO

2 HHISA

Rr

Rr

M0
"3
Rl

10

30
OH
Al

ol

30
OH

ol

A 360
A 360
4,775
4,775

9,600
9,600
58,369
58,369

9,240
9,240
9,240
63,144
63,144

1 «128
- 35 -

=
=

2| %

e

70,000

03 RIHAZ2NE =

101 1Al

Jl=&dl




A 2sMs22
H: HH2AAH (IS HMS2EAL L)
& 123l CEE-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 45,484 44,769 715
01 At 22l 41,850 38,978 2,872
OFstHsZAS A HA L=ZY|
50,000& =486 24,300
OMEH M2IR=EZ 600,000 *43| 2,400
O=ZAdEIF 7 2 HEH 1,140
—=xy FFRF 7Y 320,000& »23| 640
— =34 3P ANE 100, 000& *52] 500
OAMRA SX2He 23 200,000& x53| 1,000
O=SAD Xz 660,000& x12& 7,920
OAMBA SASX 72 20,9002 128t A 128 3,010
O&F=) gz 40,0003 x1CH 1200 & 480
OHEAES 72 400,000& *43| 1,600
02 3322l 3,634 5,791 AN2,157
OAMRA AIEE2 sR&2 2,000
OMBA HEE RFRFS 817& x2,0004 1,634
202 Odl 10,560 8,640 1,920
01 = LHA YI 10,560 8,640 1,920
ORM2E =UHH 10,560
203 2= bl 7,100 4,960 2,140
02 A& H 2= 1,640 760 880
OISR F= &Y 40,000& x41H 1,640
04 EMNSSHRF=LHI 5,460 4,200 1,260
FN2ZHRFEHI 455,000& x12& 5,460

_36_




